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1. RN HFREAEMT. (SH15208, A2 208, B3 2408, CH543 308 )

(1) z+ 3y =700 2) 2z +y =180
T+ 7y =200 rT:y=2:5

(3) 0.3z + 0.2y = -2.1 (1) 4o — b5y = 23
y=—-2x+3 6z + 4y = —23
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2. ROESZSEREMHT. (SHh12 258, Ak2230%, Bik4D, CH6a)

— 3y = 300 3 = 255
SOTIR S 2) vy

z+ 7y =900 z:y=4:5

09z + 2.2y = -3.7 8r+3y=3
(3) v e (@) vy

r=—-2y+3 6z — 7y =30

© B2 - HEEER L7291 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

RH7RA S 1RARNX &

=

AR WAWE 02 SREfRR

1. ROFENZHERZMT. (SH1220%8, AMh22208, B3 73408, C #5773 30% )

(1) x + 3y = 700 HO) ) 22 +y = 180 SO
KL ¢ 2 HEKT 5. ® e bBr=2y & br—2y=0-0
® z + Jy = 700
-) @ z + Ty = 200 *EE ¢y 2 HET 5.
—4y = 500 Ox2 4 + 2y = 360
y = -—125 +) ® 5r — 2 = 0
9 = 360
@ ZfeA * T
o4+ 3% (—125) = 700 . -
r—375 = 700 @ IZRA
z = 1075 2x40+y = 180
=1
(z,y) = (1075, —125) &z 80ty 80
y = 100
(z,y) = (40,100) B
0.3z +02y =—21 - 4x — 5y = 23
(3) v+0.2y O (4) €L Y ®
y=—2x+3 6 6x + 4y = —23 )
® e 3x+2y=-21 <4 x10 Kk v 2EET 5.
Ox3 122 — 15y = 69
KAy 2HET . -) @x2 12z + 8y = —46
3x4+2(-22+3) = -—21 —23y = 115
3r—4r+6 = =21 y = =5
—r = -27
! @ IZfRA
T 27
4r —5x (=5) = 23
@ IRALT, 4dr+25 = 23
T=-2x27+3=-51 4y = -2
-
(z,y) = (27,-51) &HZ 1
(z,y) = <—2,—5> BZ
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2. ROESZSEREMHT. (SHh12 258, Ak2230%, Bik4D, CH6a)

(1) z — 3y = 300 6 (2) 3x +y =255 @
AN« 2 HET 5. @ e bBr=4y © bHr—4y=0-0O
®© z - 3y = 300
-) @ x + Ty = 900 KR y 2 ET 5.
—10y —600 Ox4 122 + 4y = 1020
y = 60 +) ® b - 4y = 0
17 = 1020
@ 1A A ’ w0
£—3%x60 = 300 v -
z—180 = 300 @ IZf8 A
r = 480 3x60+y = 255
. 180 = 255
(z,y) = (480,60) -3 ty
y = 75
(z,y) = (60,75) FHA
0.97 + 2.2y = —3.7 8z + 3y =3
(3) T+ Y ® (4) T + 3y ©)
r=—2y+3 ) 6x — Ty = 30 (2
®© e 9x+22y=-37 <M x10 KL ¢ 2 EET 5.
Ox3 24z + 9y = 9
*RAE z2HETS. -) @x4 24z — 28y = 120
9(—2y +3)+22y = -—37 37y = —111
—18y + 27422y = —37 = -3
4y = —64
LT ® ifRA
vy= 6x—7x(=3) = 30
@ IZ/RALT, 6x+21 = 30
z=-2x(—16)+3 =235 6r = 9
3
r= 9
(z,y) = (35,—16) &R 5
@) = (3.-3) -z
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